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Introduction to TRIGONOMETRY 

1] If 2 cos 𝜃 = 1 and 𝜃 is an Acute angle then the value of ‘𝜃′ is : 

       A] 00                B] 300                  C] 450                 D] 600 

 

2] The value of tan2 600 is : 

  A] √3               B] 2√3             C] 
1

3
                      D] 3 

 

3] (1+ tan2 600)2  is equal to: 

  A] 1  B] 2       C] 16       D] 4 

 

4] If 1 – cos2𝜃  = 
3

4
 , then sin 𝜃 is : 

           A] 
√3

2
  B] 

1

2
               C] 1                    D] 0 

 

5] The value of tan 𝜃 cot 𝜃 is: 

          A] 0                  B] 1                   C] 
1

𝑐𝑜𝑡𝜃
               D] 

1

𝑡𝑎𝑛 𝜃
 

 

6] If tan x = 
7

24
 , then cot x is: 

          A] 7                    B] 24              C] 
7

24
              D] 

24

7
   

 

7] If sec (𝜃 + 360) = cosec𝜃  ,then 𝜃 is equal to : 

          A] 360                B] 540           C] 630              D] 270 

 

8] If 3x = sec𝜃, 
3

𝑥
 = tan 𝜃, then (x2 - 

1

𝑥2
) is equal to: 

          A] 9                 B] 3             C]
1

9
               D] 1 

 

9] The value of sin2600 – sin2300 is: 

  A] 
1

4
                 B]

1

2
                 C] 

3

4
            D] -

1

2
 

 

10] If sec 2A = cosec (A – 270), where 2A is an acute angle, then the measure of ∠𝐴 𝑖𝑠: 

  A] 350  B] 370  C] 390  D] 210 

 

11] Given that sin𝜃 =
 𝑎

𝑏
  , then tan 𝜃 is equal to: 

  A] 
𝑏

√𝑎2+ 𝑏2
 B] 

𝑏

√𝑎2− 𝑏2
 C] 

𝑎

√𝑎2− 𝑏2
 D] 

𝑎

√𝑏2− 𝑎2
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12] If sin 𝜃 = cos 𝜃, then the value of 2tan 𝜃 + cos2𝜃 is: 

  A] 1  B] 
1

2
                   C] 

5

2
               D]

2

5
 

 

13] If cosec 𝜃 = 2 and cot 𝜃 = √3p, where ‘𝜃’ is an acute angle, then the value of ‘p’ is: 

             A] 2                   B] 1                  C] 0               D] √3 

 

14] The maximum value of sin 𝜃 is : 

            A] 
1

2
                      B] 

√3

2
                C] 1             D] 

1

√2
  

15] If tan 𝜃 = 
7

8
, then the value of 

(1+sin 𝜃) ( 1−sin 𝜃 )

( 1+cos 𝜃) ( 1−cos 𝜃)
 is : 

   A] 
7

8
  B] 

8

7
                  C] 

64

49
             D] 

49

64
 

 

16] If 5 tan 𝜃 = 4, then the value of 
5𝑠𝑖𝑛𝜃−3 𝑐𝑜𝑠𝜃

5 𝑠𝑖𝑛𝜃+3 𝑐𝑜𝑠𝜃
 is : 

  A] 0  B] 1  C] 
1

7
           D] 

2

7
 

 

17] If 5 tan 𝜃 = 12, then 
13 sin 𝜃

3
 is: 

  A] 2  B] 4  C] 12  D] 1 

 

18] The value of 
2 tan 300

1+𝑡𝑎𝑛2300
 is : 

       A] sin600            B] cos 600          C] tan 600         D] sin 300 

 

19] If A, B and C are interior angles of a ∆ABC, then tan (
𝐴+𝐵

2
) is equal to: 

      A] sin (
𝐶

2
)           B] cos (

𝐶

2
)          C] cot (

𝐶

2
)      D] tan (

𝐶

2
) 

 

20] If sin (x-20)0 = cos (3x – 10)0, then x is: 

  A] 60  B] 30  C] 46  D] 35.5 

 

21] In a right triangle ABC right angled at C, if tan A = 
8

15
, then the value of cosec2A – 1 is: 

  A] 
64

225
                  B] 

225

64
                    C] 

289

64
     D] 0 

 

22] If tan x = sin 450 cos 450 + sin 300, then x is equal to” 

  A] 450  B] 900  C] 00  D]
1

2
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23] Maximum value of 
1

sec 𝜃
 , 00 ≤ 𝜃 ≤ 900 is: 

  A] 1  B] 2  C] 
1

2
                       D] 

1

√2
 

 

24] If ABC is a right angled triangle, right angled at B. If AC = 17cm and BC = 8cm, then 

15sec A + 8 cot A is: 

  A] 23  B] 32  C] 120  D] 27 

 

25] If sin2A = 
1

2
   tan2 450, where ‘A’ is an acute angle, then the value of A is 

                      A] 600                 B] 450                   C] 300                    D] 150 

 

26] The value of cos2170 – sin2730 is 

  A] 1  B] 
1

3
                      C] 0                        D] -1 

 

27] If A = 300, then sin 2A equals: 

  A] 
1

2
  B] 

√3

2
                C] 

1

√2
  D] 1 

 

28] The value of sin 450 + cos 450 is: 

  A] 
1

√2
  B] √2  C]  

√3

2
      D] 1 

29] (1 + cos 𝜃 ) (1 - cos 𝜃 ) is equal to: 

  A] sin2 𝜃             B] tan2𝜃               C] 1                      D] 0 

 

 

30] Find  sin A. cos A. tan A + cos A. sin A. cot A is equal to: 

 A] sin2A – cos2A  B] tan2A + cot2A   C] sin2A + cos2A   D] sin2A + tan2A 

 

31] Sin2A = 2 sin A is true, then A is equal to: 

                       A] 600                   B] 450                 C] 300                  D] 00 

 

32] If tan 3A = cot (A – 260 ), 3A < 900, then the value of A is: 

  A] 260  B] 290  C] 160  D] 580 

 

33] If cos 2 𝜃 = sin 4 𝜃  , where 2𝜃 and 4𝜃 are acute angles, then the value of 𝜃 is: 

                      A] 150           B] 300  C] 450  D] 600 
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34] tan 𝜃  is not define, when 𝜃 is equal  to: 

       A] 00           B] 300  C] 600  D] 900 

 

35] The value of cos 480 cos 420 – sin 480 sin 420 is : 

  A] 1  B] 0  C] 90  D] 4 

 

36] In ∆ ABC right angled at C, the value of cos(A + B) is: 

                       A] 0                      B] 1                     C] 
1

2
                       D] 

√3

2
   

 

37] Sin (450 +  𝜃) – cos (450 -  𝜃)is equal to 

  A] 2 cos 𝜃             B] 1                     C] 2 sin 𝜃              D] 0 

 

38] The value of cot2 𝜃 - 
1

𝑠𝑖𝑛2𝜃
  is: 

                      A] 0                     B] -1                     C] 1                       D] 
1

2
 

 

39] if sec 𝜃 + tan 𝜃 + 1 = 0, then sec 𝜃 - tan 𝜃 is: 

        A] -1  B] 1  C] 0  D] 2 

 

40] If x = a cos 𝜃, y = b sin 𝜃 , then b2x2 + a2y2 – a2b2 is equal to 

  A] 1  B] -1  C] 0  D] 2ab 

      

41] If cosec 𝜃  - cot 𝜃 = 
1

4
 , then the value of cosec 𝜃 + cot 𝜃 is: 

  A] 4  B] 
1

4
  C] 1  D] -1 

 

42] The value of (
11 

𝑐𝑜𝑡2 𝜃
− 

11 

𝑐𝑜𝑠2 𝜃
) is: 

  A] 11  B] 0  C] 
1

11
                     D] -11 

 

43] It tan 𝜃 + cot 𝜃  = 5, then the value of tan2 𝜃 + cot2 𝜃 is: 

  A] 23  B] 25  C] 27  D] 15 

44] cos2 𝜃 + sin2 𝜃 is: 

  A] x  B] 1  C] 
1

2
    D] x2 

 

45] 
1−𝑠𝑒𝑐2 𝐴

𝑐𝑜𝑠𝑒𝑐2 𝐴−1
     equals: 

                      A] – sec2 A          B] tan4A             C] –tan4A              D] 1 
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46] 
sin 𝜃

1+cos 𝜃
     is : 

  A] 
cos 𝜃

1−sin 𝜃
   B] 

1−cos 𝜃

sin 𝜃
 C] 

1−sin 𝜃

cos 𝜃
              D] 

1−cos 𝜃

1+cos 𝜃
 

 

47] ( sec A + tan A ) (1 – sin A ) on simplification gives : 

  A] tan2A B] sec2A C] cos A  D] sin A 

 

48] 9 sec2 A – 9 tan2 A = 

  A] 1  B] 9  C] 8  D] 0 

 

49] ( 1 + tan 𝜃 + sec 𝜃 ) ( 1 + cot 𝜃 - cosec 𝜃 ) = 

  A] 0  B] 1  C] 2  D] -1 

 

50] ( sec A + tan A ) ( 1 – sin A ) = 

  A] sec A  B] sin A  C] cosec A D] cos A 

 

51] 
1+ 𝑡𝑎𝑛 2𝐴

1+ 𝑐𝑜𝑡2 𝐴
 =  

  A] sec2 A B] -1  C] Cot 2 A D] tan2 A 

 

 

 

 

 

 

 

 


